EARAZROREIERT — 2 N—XBISY —F 2015578128 (BH) 7E1A&E4H

M 3m— 78 Y5R 3% ‘ xz] 2 ‘ el — |4 (&) 13000 &
[AE4£] 1% :150,000  ~ 2% :3500MH  3%&:14,000”  437%:8,000H ~ 53 :5,000 M
BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
P 2UNESS 124, -3-3- . — MRz (EE)
1 3 O A — 4 3 54%— 1(2_4)0 3-3-3-3 | 40.3 2 (4_224) 1 "
LegU Bsr4ar L2 EKS
= Al 124, =G . = HHE (£8)
2 6| TTITLbFAA 5 € 54.0 1(12/42; Fezl 408 ° :Z? PIEIE# -
A N—3I FA—b B:FAILIGTH BET 1 I A8sHEH
— e [iim}2 : —-6-5- — Z/EEAN (ER)
3 AELEAUEIN it 3 s 1.(224>.5 7-6-5-5 | 40.2 4 (4_514) E:é:\IE— "
R:d—IWK7Uz2—I)b B:)TAT7RY—LZ KRB
> N . BHEIFE : —1-1- — BHEXE (£8)
A R R R
R:ILNAT7A—h— B b7OVTF1 7T =Eizier]
5 T # 3 | AEE 1:24.8 4-4-4-4 |40.9| — | 8 | 428 |WTEX (f£#)
5/glg|Hn¥/)a-% 54.0 (7€) () | 1BAE
LA FoaARR BiHL /)TN AH tF
s N N REE_ 205, —8-8— . — FlEE (1£8)
6l7|7|XTRIVT1T—=I i g 56.0 1<245)5 868 | 404 ! f; iﬁ#;ﬁﬂz .
LHIRT«TZRX B:RIXFy7A-X 5352 Riis
. 4 3 | BXTHA 1:25.6 5-5-6-6 | 41.1| — 6 470 | LIER (1£8)
] 4 R—LX ¥¢55.0 (7E) (+5) rﬁ'ﬁ%ﬁ“ -
RZAZHT R B:Jav3y EdHhITT— L
. . =HIER : —7-7- — Z/EEAN (EB)
855 | X2V H1ES 4 3 Pk (12.216/.21) 6-7-7-7 | 41.4 5 51_3‘;4) Jﬁ;{\%
L:¥r/0704 BiYAIECRILFI Rl e ]
® I —F—@EBIERL
13=7r= 1,6,3,8,4,5,2,7
Aol=5r= 1,6,3,8,4,2,5,7
G§a=7r= 1,6,3,8,2,4,5,7
43—+ — 6,1,3,8,2,4,5,7
[ RN
B OB 3 270M 714K 3-6 190H B E 3-6 420M &R 2-3-6 650M
8 B 3 150 2-3 320M B E 3-6 850 JEH 3-6-2 1,990
6 280 2-6 400
2 440M

ABICOVWTRDTEEERROODE. TR LIV,




